
i. e. ⇐ (E.) x

It is handy to drew pictures with unto c= 1
.

fxto
0 0

'

t
←

storey
ft

'=O

-

- "

now
" for 0

'

at E

¥##t:iii'ate

, [ t . e) ⇐  cast

Repeat  at different spots  an
0

'
's world line and get

t - ( ⇒ ×= cast ⇐ t 's
 coast

£ '= f ( t - ( Ea) x )



What 's f ?
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Two  consequences .

g moving rod
,

T

.
.  . -

¥¥( ↳ a=( stsxtvst )

1-1

S× We take P to lie an tho

so  as to  measure length w.at
. @

'

t '=o⇐> t - ¥x=o

P= tax ,
x ) for Sanex

P= ( St
,

Sxtust ) frame SE

St=¥×

x= Sx + YEX

ytx = dx
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note  sign
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= r ( × . ¥× )
= 8 j2×
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I. e. Sx '= TSX

So the rod in the rest fmne is laser
,

by a factor off
,
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